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>>> type(32.01) ‘
<type 'float'>
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>>> int("32")

32

>>> int(3.99999)

3

>>> int("World")

ValueError: invalid literal for int() with base 10: 'World'
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>>> float(32)

32.0
>>> float("3.14159")
3.14159
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>>> x=5

>>> x=str(x)
>>> type(x)
<type 'str'>
>>> str(5.555)
'5.555'
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>>> minute/60
0
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>>> float(minute) / 60
0.98333333333333328
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>>> minute = 59

>>> minute = 59

>>> minute / 60.0
0.983333333333
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g>> type("32") \

<type 'str'>
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>>> srings = type("32")

>>> print strings

<type 'str'>

>>> type(32)

<type 'int">
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